CONCEPTUAL TooOLS By: Neil E. Cotter CIRCUITS
THEVENIN EQUIVALENT

Max power xfer

EXAMPLE 2
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a) Calculate the value of Ry, that would absorb maximum power.

b) Calculate that value of maximum power R, could absorb.

Sol'n: @) Ry = Ry, for max power transfer

We Find Ry, by boking into the
terminals  where R, s donnected
(but  without R_) with +the +two
independent sources turned off.

Ry, = 75052 + 1600
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max Pvur = <V;rh)
2
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We  find Vo @S the open circutt

voltage across the +terminals where
RL Ls connected.

We Find Vo lo)/ U.SLV\j SuFerPoSH:i.oh.

case T: 30V on, 180 mA oFf

30V
o652
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Since no current flows, +there
s nho v—a\mp across the R!'s,

S Vg = — 30V (- v sre)

Note: Since we will spuare Vo,
the polarity we c¢hoose For
measuring voy, doesnt
ma-(:'(:er.
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¢case L. 30V o-P-_F, 180 mA on

No current Flows n  the
75092 and SO, Thus, there
is no y-drop acress these R's.

The v-drop across the 1065 is
eﬁ\m\. +o Vine
Vihae = IBOMA « 100 = 1BV

We sum results 4o find Vrh-

Vi = Vi ¥ Vgha

vTh = =0V + 18V = - |V
2z 2
Mmax pwr = (VI!\.> = é_ = 3L mW
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